—|

L e

38

58,59

L1

12

50 S 1314 15 16 18



Pressure gauge board * notillustrated

ltem Description NO
1 |pressure gauge board complete 18.37.00
2 |pressure gauge holder 18.37.01
3 |pressure gauge 100 mm- 10 bar R 1/2" 18.11.41
4 |pressure gauge 100 mm - 40 bar R 1/2" 18.11.42
5 |pressure gauge 100 mm - 100 bar R 1/2" 18.11.43
6 |pressure gauge 100 mm - 400 bar R 1/2" 18.11.44
7* |Manometer - Befestigungsteile
8 |cylindrical screw AM 4 x 10 V4A 18.11.65
9 |hexagon nut M 4 V4A 18.11.66
10 [lock washer A4 V4A 18.11.67
11 |pressure gauge reducing valve comlete 18.13.20
12 |valve body 18.13.21
13 |valve spindle 18.13.22
14 |glandring 18.13.23
15 |graphite string 4 x4 , L =60 mm 18.13.24
16 |gland fitting 18.13.25
17 |hand wheel 18.13.26
18 |hexagonnut M5 18.13.27
19 |T - type fitting 18.13.28
20 |gasket 18.13.29
21 |vibration absorber suspension 18.17.11
22 |bell suspension 18.17.12
23 |hexagon screw M 10 x 15 14.26.03
24 |hexagonnut M 10 14.25.07
25 |capnutM 10 11.65.39
26 |lock washer A10 14.26.04
29* |set of pressure gauge pipngs 18.27.25
30" |set of pressure pipings - pressure gauge board to cooler 1. stage 2010 mm 18.27.01
31 |set of pressure pipings - pressure gauge board to cooler 2. stage 1630 mm 18.27.02
32* |set of pressure pipings - pressure gauge board to cooler 3. stage 1630 mm 18.27.02
33" |set of pressure pipings - pressure gauge board to cooler 4. stage 1770 mm 18.27.04
34% set of pressure pipings - pressure gauge board to cooling water pump 18.27.05
800 mm
35* |set of pressure pipings - pressure gauge board to reducing valve 650 mm 18.27.07
36* |set of pressure pipings - pressure gauge board to stand pipe 670 mm 18.27.08
37* |pressure gauge pipe 18.27.26




Pressure gauge board * notillustrated

ltem Description NO
38 |set of pressure pipings - pressure gauge board to cock valve 18.27.27
39 |set of pressure pipings - cock valve to starting air tank complete 18.27.28
40 |valve holder 18.27.17
41 |adapterR 1/2"R 1/4" see 21.25.11

42* |gasketring 18.13.39
43 |pressure gauge cock valve see 21.25.10

44 |screwing 18.27.18
45 |gasketring A 14 x 18 (copper) 3.11.08
46 |[screw adapter 15.15.02#
49 |operation hours counter see 18.90.41

50 |union nipple 4 x 6 for tube 6 x 1 18.11.10
51 |unionnutM 14x 1,5 18.11.11
52* |ring nipple for tube 6 x 1 13.11.17
53* |hollow screw M 8 13.11.19
54* |gasketring A8 x 14 (copper) 5.11.03
55 |double hollow screw M 8 16.80.55
56* |union nipple 16.80.55
57* |unionnut R 1/4" 26.13.05
58 |cutting ring 40.30.09
59 |union nut 18.11.13
60 |unionnutM16x15 3.10.10
61 [unionnipple 6 x 8 3.10.11




	18_Pressure gauge board_02
	18_Pressure gauge board_ET1_02
	18_Pressure gauge board_ET2_02

